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MANAGEMENT GROUP
T WAIT  THThHIT AGThT
PAPER I : MANAGEMENT ACCOUNTING

fMax. Marks : Regular 40 / Private 50
[Min. Marks : Regular 13 / Private 17

fAawfAder: g% v F ST At srfdaaw € 250 52 § | IR g & srfdaw g8t i gt 16 gnft

100

Word limit for answer of each question is 250 words. The maximum number of
pages of answer book is 16.

a1y wit RafRa wd @t fRenfiat F g afaeet &1 it & g siw s demT oo §
AT FTET RM |

All questions are compulsory for all Regular and Private students. Marks distribution
for all students are as shown in question paper.

Regular 5x8=40 / Private 5x10=50

TEUHT SAGTHT § FAT AT & ? THT THT T &7 1 quzmey |

What do you understand by Management Accounting ? Discuss its nature and scope.

o ferffes et & fasita fAawont a1 st ot # 9 & vt fee=edt @ § 2
What parties are usually interested in the interpretation of a published accounts of limited company?
Explain their respective view points.

e gEet & fafAgres et & T warg i qoer BT

From the following information calculate cash flow from Investing Activities :

=TT Particulars 31 March, 2019 31March, 2020

FTY Rs. ¥7Y Rs.
4= (Machinery) at cost 5,00,000 6,00,000
=t g9 (Accumulated Depreciation) 1,00,000 1,20,000

a5 & 50,000 F Ard ¥ v wefiw, fora v @ gra 30,000 w3 947 25,000 0¥ F 47 G wE |
During the year a machine costing Rs. 50,000 with accumulated depreciation of Rs. 30,000
was sold for Rs. 25,000.

e aC aREdaeiie armat #1 o qurd 50% § | autawse favg BT 7= 75% § 1 quf erwar ¥ siada A
ST Hifory, Safs warht @ 1,50,000 79 & 1 80% T 100% s w2 wrer &7 frerfor 1509 |

The ratio of variable cost to sales is given to be 50%. The BEP occurs at 75% of sales. Find the
capacity sales when fixed costs are Rs. 1,50,000. Determine profit at 80% and 100% capacity.

AT @A T 7 TaTeY | 9% ATH-gI HT aui Frior |
Give the meaning of Responsibility Accounting. Discuss its advantages and disadvantages.
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